&J doubtnut

India's Number 1 Education App

MATHS

BOOKS - JNAN PUBLICATION

ALGEBRIC OPERATIONS

1. Lets wirte the Algebraic expression and find their number

of terms. 4x,3x+1,2x+1,6p - 1,3y +6

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qz4vuYtT5Ayw

2. Draw 'factor tree' type figures and from there find the
number of terms and factors of the following algebraic

expression: 2x+1.

o Watch Video Solution

3. Draw 'factor tree' type figures and from there find the
number of terms and factors of the following algebraic

expression: 3y+6.

o Watch Video Solution

4. From algebraic expressions from the statements given y is

added to x.

| nlll,l,l,\",l,,ﬁ,l e


https://dl.doubtnut.com/l/_LuVIhVKcuqEL
https://dl.doubtnut.com/l/_IYDGeCmlvPNP
https://dl.doubtnut.com/l/_CE5xkNaTHJfS
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5. Let's form algebraic expresisons from the statement given
below:

X is subtracted from z.

o Watch Video Solution

6. Let's form algebraic expresisons from the statement given
below:

q is added to twice of P

° Watch Video Solution



https://dl.doubtnut.com/l/_CE5xkNaTHJfS
https://dl.doubtnut.com/l/_L5XDTPqj5qhy
https://dl.doubtnut.com/l/_TIHd48T1d27t

7.Let's form algebraic expresisons from the statement given
below:

Multiply x with square of x

o Watch Video Solution

8. Let's form algebraic expresisons from the statement given
below:

: 1 L :

i) the Zth of the sum of x and y ii) 7 is added to 4 times the
product ofa &b

° Watch Video Solution

9. Let's form algebraic expresisons from the statement given

below:


https://dl.doubtnut.com/l/_84JlqKwCK7cH
https://dl.doubtnut.com/l/_K77gCc3zgjBM
https://dl.doubtnut.com/l/_Uf1rCATa5xXB

(i) Half of y is added to twice of x (ii) Produt of x and y

subtructed from sum of x and y.

° Watch Video Solution

10. Let's observe the patterns fo match sticks and fill in the

schart given below.

I 2 3

° Watch Video Solution



https://dl.doubtnut.com/l/_Uf1rCATa5xXB
https://dl.doubtnut.com/l/_QkHirzDSTOnN

11. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: 5z.

o Watch Video Solution

12. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: 7 + 2z + z?.

o Watch Video Solution



https://dl.doubtnut.com/l/_wBE9MN8ebxYK
https://dl.doubtnut.com/l/_WxK7h3Tv0iho

13. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: 2y3 + .

o Watch Video Solution

14. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: wzy + xy2 + zyz.

o Watch Video Solution



https://dl.doubtnut.com/l/_mdupqXVL8VCC
https://dl.doubtnut.com/l/_MihykXoMPEHh

15. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: zy + 2m2y2.

o Watch Video Solution

16. Represent the following algebraic expressions into 'factor
tree' type of figure mentioning the prime factors of each
term. Also mention the types of these expressions with

respect to their number of terms: 5x+2y.

o Watch Video Solution



https://dl.doubtnut.com/l/_zO1PT9RNpDx2
https://dl.doubtnut.com/l/_CdpBajl2YFeW

17. Let's find the numerical co-efficcients of the terms, other
than constant term.

2x + 3y

o Watch Video Solution

18. Let's find the numerical co-efficcients of the terms, other
than constant term.

>+ 2z +5

© Wwatch video solution

19. Let's find the numerical co-efficcients of the terms, other
than constant term.

z? + by — Ty


https://dl.doubtnut.com/l/_AEJFhJ45Gpdd
https://dl.doubtnut.com/l/_ttnMFXdUOIqb
https://dl.doubtnut.com/l/_6WR3ceDL3Ocz

o Watch Video Solution

20. Let's find the numerical co-efficcients of the terms, other
than constant term.

-5-z

o Watch Video Solution

21. Let's find the numerical co-efficcients of the terms, other
than constant term.

333—|—w—y

° Watch Video Solution



https://dl.doubtnut.com/l/_6WR3ceDL3Ocz
https://dl.doubtnut.com/l/_mkf2U7GMU2tN
https://dl.doubtnut.com/l/_UTor9ocd8rW6

22. Let's find the numerical co-efficcients of the terms, other
than constant term.

Sy
y

o Watch Video Solution

23. In the following algebraic expression let's find the co-
efficients of x in the terms or terms which has 'x' as their
factor.

y3w 4+ y2

° Watch Video Solution

24. In the following algebraic expression find the coefficient

of x in the terms or terms which has 'x' as their factor:


https://dl.doubtnut.com/l/_ggkJqJslTI1q
https://dl.doubtnut.com/l/_jPMJvlZCemjI
https://dl.doubtnut.com/l/_QXJpn0UuGAgo

1522 — 8zz.

O Watch Video Solution

25. In the following algebraic expression find the coefficient

of x in the terms or terms which has 'x' as their factor: -x-y+2.

o Watch Video Solution

26. In the following algebraic expression find the coefficient
of x in the terms or terms which has 'x' as their factor:

4+y+yx.

o Watch Video Solution



https://dl.doubtnut.com/l/_QXJpn0UuGAgo
https://dl.doubtnut.com/l/_iSlvUxAWSKhh
https://dl.doubtnut.com/l/_vYbn6z5yjK8C

27. In the following algebraic expression find the coefficient
of x in the terms or terms which has 'x' as their factor:

2—|—w—|—a:y2.

o Watch Video Solution

28. In the following algebraic expression find the coefficient
of x in the terms or terms which has 'x' as their factor:

15zy* — 14.

° Watch Video Solution

29. Group the like terms from the algebraic expressions
given: 2x, y, 12xy, 13y2, -5x, 18y, -4xy, — 2y2, 21ac2y, 3X, 3XY, XY, -Y,

— 62, — 152>


https://dl.doubtnut.com/l/_yx2JnAcIMnOz
https://dl.doubtnut.com/l/_TAFsc6iFe2hC
https://dl.doubtnut.com/l/_rlsIMfCpuuhk

o Watch Video Solution

30. Let's identify the like and dislike pairs of terms with
reasons from the pairs of given below:-

2x, 2y

o Watch Video Solution

31. Identify the like and unlike pairs of terms with reasons

from the pairs of terms given: 7x, 8x,

° Watch Video Solution



https://dl.doubtnut.com/l/_rlsIMfCpuuhk
https://dl.doubtnut.com/l/_NZD2PMPlVM5B
https://dl.doubtnut.com/l/_JgBQHwUfe9rM

32. Let's identify the like and dislike paris of terms with
reasons from the pairs of given below:-

-29x, 6x

o Watch Video Solution

33. Let's identify the like and unlike pairs of terms with
reasons from the pairs of given below:-

4xy, byz

° Watch Video Solution

34. Let's identify the like and unlike pairs of terms with
reasons from the pairs of given below:-

-15x, 8xy


https://dl.doubtnut.com/l/_5NjyGQ4j6TXy
https://dl.doubtnut.com/l/_QY90uA5Ax2LE
https://dl.doubtnut.com/l/_IMuReqleMRpA

o Watch Video Solution

35. Let's identify the like and unlike pair of terms with
reasons from the pair of given below:-

5zy, 6x2y>

o Watch Video Solution

36. From the algebraic expressions given, write the terms

which contain z2. And also find the coefficient of z2: 5 — zy?

° Watch Video Solution



https://dl.doubtnut.com/l/_IMuReqleMRpA
https://dl.doubtnut.com/l/_unWkUeTTw3RX
https://dl.doubtnut.com/l/_szDDj9jD4DwK

37. From the algebraic expressions given, write the terms
which contain z?. And also find the coefficient of z?%:

—6z? — 8y

o Watch Video Solution

38. From the algebraic expressions given, write the terms

2

which contain z2. And also find the coefficient of z2:

3z? — 15zy? — 8y?

© Watch video solution

39. Let's add the algebraic expressions

(2:132 + x + 2) and (xz + 22 + 2)

| n|ll,l,l,\",l,,ﬁ,l e


https://dl.doubtnut.com/l/_bc2zYmyHTJHJ
https://dl.doubtnut.com/l/_sUL2P91CN8RO
https://dl.doubtnut.com/l/_pBoqOmWa7ITL
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40. Let's substracte the algebraic

(32% + 3z — 2)om(52” — 2z — 3).

expressions

° Watch Video Solution

41. Let's add the following :-

( — 5z + 3y) and (18z — 15y)

o Watch Video Solution

42, Let's add the following :-

(7Ta — 8b + 2¢) and (2a + 3b — d)

o Watch Video Solution



https://dl.doubtnut.com/l/_pBoqOmWa7ITL
https://dl.doubtnut.com/l/_ZBpNzjza8nKp
https://dl.doubtnut.com/l/_POLaITusEl60
https://dl.doubtnut.com/l/_RGDpTqlzmxIA

43. Let 's subtract.

(-mn-m+n) from (4mn + m+n)’

o Watch Video Solution

44, Let 's subtract.

(2¢> + 3p° — gp + pg”) From (p* + ¢° — pq + p’q).

o Watch Video Solution

45. Let's calculate mentally :-

5x + 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_RGDpTqlzmxIA
https://dl.doubtnut.com/l/_GzQhp1Dbll8s
https://dl.doubtnut.com/l/_ODxEI1UaXRIt
https://dl.doubtnut.com/l/_NqCeQFottzKi

46. Let's calculate mentally :-

9y -3y

o Watch Video Solution

47. Let's calculate mentally :-

-4y +7y

o Watch Video Solution

48. Let's calculate mentally :-

-10x - 2x

o Watch Video Solution



https://dl.doubtnut.com/l/_YnHgwtLlP7K2
https://dl.doubtnut.com/l/_zpRjkV3AITaW
https://dl.doubtnut.com/l/_ApAzJPUdu5ys
https://dl.doubtnut.com/l/_Y7tMx5eK4N3e

49, Let's calculate mentally :-

3a +4a-2a

° Watch Video Solution

50. Let's calculate mentally :-

-7X -2X +5x

o Watch Video Solution

51. Let's calculate mentally :-

6p -2p + 3p

o Watch Video Solution



https://dl.doubtnut.com/l/_Y7tMx5eK4N3e
https://dl.doubtnut.com/l/_VMXLNN3AXd6c
https://dl.doubtnut.com/l/_dVEgXzBxxBxt

52. Calculate: 422 — 222 — 322 + 22

o Watch Video Solution

53. Let's calculate mentally :-

5a2b — 2a%b — 3a’b + 8a’b

° Watch Video Solution

54. Calculate: 3z — 622 — 222 — 22 + 622

o Watch Video Solution



https://dl.doubtnut.com/l/_1MZ70a6eYsG7
https://dl.doubtnut.com/l/_ttYQlOKobJtZ
https://dl.doubtnut.com/l/_MGmaGEY9sfoc

55. My age is 'x' Pallabi is 2 years older than me. Let's find the

sum of our ages.

° Watch Video Solution

56. Today | made 'x' number of flower garlands. Mir made 6
more than twice the number of garlands | made. In total,

how many garlands we two have made.

O Watch Video Solution

57. Today Ratul bought guava for x rupees, apple for (x+15)
rupees and cucumber for (2x+3) rupee. Find, how much

money did Ratul spent today on fruits.

| nlll,l,l,\",l,,n,l n®


https://dl.doubtnut.com/l/_d6Fyfuw1hnSU
https://dl.doubtnut.com/l/_qpUjEDDuJvlF
https://dl.doubtnut.com/l/_3tJfeu5qfodz

{ ™ Vvvaldil vigeo o50Iution )

58. Last year Firoza was present in school for x days. Firoza's
friend Mohini was present for (3x+13) days. Findout last year
how many days was Mohini present in school more than

Firoz.

o Watch Video Solution

59. Today, Dipuda sold (2x+19) newspapers. But yesterday he
sold (5x-8) newspapers. Find, how many newspapers did

Dipuda sold today more than yesterday.

o Watch Video Solution



https://dl.doubtnut.com/l/_3tJfeu5qfodz
https://dl.doubtnut.com/l/_5ovCbteNfSW7
https://dl.doubtnut.com/l/_6abF25vZx9wV

60. Paresh babu earns Rs. 8X per month. But the spends Rs.
(3x - 15) per month. Let's find the amount of money he saves

per month.

o Watch Video Solution

61. Add: 3a+b, 2a+4b, 5a-b

o Watch Video Solution

62. Add: 5a-4, 2a+3, 2a-4

o Watch Video Solution



https://dl.doubtnut.com/l/_GtDL0srvM4Ql
https://dl.doubtnut.com/l/_zoygkQMOQxif
https://dl.doubtnut.com/l/_hubR74JJlERb

63. Let's add :

6a’> + Ta + 3,922 — 2a + 7,4a* — 2a + 9

o Watch Video Solution

64. Let's add :

2a2b + 5b%a + 7, 3a%b — 2b%a + 6, 8a®b — b*a + 9

o Watch Video Solution

65. Let's add :

4xy + 5x + 7Yy, - 4xy -y - 3%, 3xy - 3y + 2x

o Watch Video Solution



https://dl.doubtnut.com/l/_Ai4Rvk4y8O6e
https://dl.doubtnut.com/l/_aeXfDZbTXEqS
https://dl.doubtnut.com/l/_weQ87N1a6rX4
https://dl.doubtnut.com/l/_r5YKY52WWQOh

66. Let's Substract:

(2x + 3y) from (8x + 6y)

o Watch Video Solution

67. Let's Substract:

(m2 — 2)F’r0m( —3m?+2m + 2)

o Watch Video Solution

68. Let's Substract:

(8x + 4y + 7) from (2x + 3y)

o Watch Video Solution



https://dl.doubtnut.com/l/_r5YKY52WWQOh
https://dl.doubtnut.com/l/_znFMQK6riHPG
https://dl.doubtnut.com/l/_uYzkkNu3ttGq

69. Let's Substract:

(50,2 + 2a — l)From( — 9% + 3a + 2)

o Watch Video Solution

70. Subtract: (— 222 + 3y2) from x

° Watch Video Solution

71. Let's Substract:

(2332 + zy + 3y2)Fr0m (3332 + 5my)

o Watch Video Solution



https://dl.doubtnut.com/l/_JMQg4L0Si24I
https://dl.doubtnut.com/l/_ScwUT2Wnz2pu
https://dl.doubtnut.com/l/_haBzK8okonPC

72. Simplify in following.

17xM2y - 3xy"2 + 14x"2y + 2xy"2

o Watch Video Solution

73. Simplify in following.

—5b + 18a + 6b — 2a

o Watch Video Solution

74. Simplify in following.

am? + 3n? — (6m2 + 7n2)

o Watch Video Solution



https://dl.doubtnut.com/l/_0TbNtSwOjwya
https://dl.doubtnut.com/l/_s4QZOg825LXR
https://dl.doubtnut.com/l/_tysB970h8lTZ
https://dl.doubtnut.com/l/_AUFlO4UqLFup

75. Simplify the following: a-b-(b-a)

° Watch Video Solution

76. Simplify the following: (6p-4q+2r) + (2p+3q-4r)

o Watch Video Solution

77. Simplify the following: -x+y+z-(2x-3y+z)

° Watch Video Solution

78. Simplify the following: (z? + 2z — 5) + (32% — 8z + 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_AUFlO4UqLFup
https://dl.doubtnut.com/l/_0e77xnz8T55J
https://dl.doubtnut.com/l/_N96PJCG35RqU
https://dl.doubtnut.com/l/_KaDdjW4EUmvP

79. Simplify the following: (7z? — 3z + 3) - (22 — 13z — 7)

° Watch Video Solution

80. Simplify in following.

6a-2b-ab-(3a+b-ab)+2ab-b+a

o Watch Video Solution

81. Ramu had Rs. (13:1:2—:1:—3). He spent Rs.

(4:1:2 — 3z — 12). Let's find how much money Ramu has got.

o Watch Video Solution



https://dl.doubtnut.com/l/_WZBz12Wcj8po
https://dl.doubtnut.com/l/_EHoxt8seARPS
https://dl.doubtnut.com/l/_DnXM7pXt7LIN

82. The length of three sides of a triangle are (x +4) cm.
(2x+1) cm. and (x-8) cm. Let's find the perimeter of the

triangle.

° Watch Video Solution

8. How much must be added to —8z% + 8z + 1 to get

— 1422 + 11z — 3.

° Watch Video Solution

84. Let's find , what must be subtracted from -11x - 7y - 9z to

get-7x+ 3y -5z

o Watch Video Solution



https://dl.doubtnut.com/l/_J0l8vzmzvPoN
https://dl.doubtnut.com/l/_2l7y4r8MKuH8
https://dl.doubtnut.com/l/_TWKhjsw7cYoj

85. How much is the sum of (3:1:2 + 4x) and (53132 — x) more

than (3z — 5332), calculate.

° Watch Video Solution

86. Subtract the sum (z?> — 9z) and (—2z% + 3z + 5) from

the sum of (5+9x) and (6 — Tz + 4z2).

° Watch Video Solution

87. If x = 5. Let's find the values of the following algebric
expression.

6x + 11

o Watch Video Solution



https://dl.doubtnut.com/l/_mAztohgA8ljz
https://dl.doubtnut.com/l/_RSTIyUp3GEr0
https://dl.doubtnut.com/l/_eg8r1jlbBhvE

88. If x = 5. Let's find the values of the following algebric

expression.

x
— +2
2-|—

° Watch Video Solution

89. If x = 5. Let's find the values of the following algebric
expression.

2+ 22 — 1

° Watch Video Solution

90. If x = 5. Let's find the values of the following algebric
expression.

3 + 8


https://dl.doubtnut.com/l/_wJMeKZMIN4pn
https://dl.doubtnut.com/l/_6x75BBgLo8Gh
https://dl.doubtnut.com/l/_NrJLg9s8lOT2

o Watch Video Solution

91. If x = 5. Let's find the values of the following algebric
expression.

10 - x

o Watch Video Solution

92. If y = -3, Let's find the values of the following algebraic

expressions.

y+5

5

o Watch Video Solution



https://dl.doubtnut.com/l/_NrJLg9s8lOT2
https://dl.doubtnut.com/l/_AbOTxMd6kquf
https://dl.doubtnut.com/l/_uzt5T0AbCh9q

93. If y = -3, Let's find the values of the following algebric

expressions.

5-y

o Watch Video Solution

94. If y = -3, Let's find the values of the following algebric
expressions.

y+38

° Watch Video Solution

95. If y = -3, Let's find the values of the following algebric
expressions.

y2—|-2y—|—3


https://dl.doubtnut.com/l/_VoUMWzJc74kE
https://dl.doubtnut.com/l/_hpH1JIMwA9aD
https://dl.doubtnut.com/l/_HYBw3BBzvad2

o Watch Video Solution

96. If y = -3, Let's find the values of the following algebric
expressions.

y*3-1

o Watch Video Solution

97. Let's find the values of the following x =2,y = -1

2x+ 7y

° Watch Video Solution



https://dl.doubtnut.com/l/_HYBw3BBzvad2
https://dl.doubtnut.com/l/_CL2rbSn81d7K
https://dl.doubtnut.com/l/_Nw19oNAxCr1z

98. Let's find the values of the following x =2,y = -1

332—|-y

o Watch Video Solution

99. Let's find the values of the following x =2,y =-1

2?2 + Tey + 2

o Watch Video Solution

100. Let's find the values of the following x =2,y = -1

3 — 8y3

o Watch Video Solution



https://dl.doubtnut.com/l/_yw049VJhyujj
https://dl.doubtnut.com/l/_7qxAErEzNgQT
https://dl.doubtnut.com/l/_qfhelaoouOFE
https://dl.doubtnut.com/l/_LhGnJgeREkkt

101. Let's find the values of the following x =2,y = -1

Y

T2

il
9

o Watch Video Solution

102. Let's find the product of the following:-

7, 2X

o Watch Video Solution

103. Let's find the product of the following:-

-3X, 4X

o Watch Video Solution



https://dl.doubtnut.com/l/_LhGnJgeREkkt
https://dl.doubtnut.com/l/_AfwulYtEuJqB
https://dl.doubtnut.com/l/_kzJg3qTplozk

104. Let's find the product of the following:-

—2x, — 3z

o Watch Video Solution

105. Let's find the product of the following:-

7x,0

o Watch Video Solution

106. Let's find the product of the following:-

3ab, 4ac

o Watch Video Solution



https://dl.doubtnut.com/l/_d3xdLW8vBzQD
https://dl.doubtnut.com/l/_iQKV0WcUIk4F
https://dl.doubtnut.com/l/_G2xDoALQFsHp
https://dl.doubtnut.com/l/_Ek7hLIJhDCFQ

107. Let's find the product of the following:-

8z2, 2y°

° Watch Video Solution

108. Let's find the product of the following:-

2a2b, 3ab?

o Watch Video Solution

109. Let's find the product of the following:-

(-4xy), (-4xy)

o Watch Video Solution



https://dl.doubtnut.com/l/_Ek7hLIJhDCFQ
https://dl.doubtnut.com/l/_yD1QTt6RUbxw
https://dl.doubtnut.com/l/_f6rqlDURLkam

110. Multiply first monomial with second monomial and write

the product in corresponding blanks spaces.

First monomial - 2X - 6%’ -4xy
Second monomial e i
= - Ty
- dx
L™ L

o Watch Video Solution

111. In each of the following cases, let's multiply and find their

product.

ab, (a2 — bz)

° Watch Video Solution



https://dl.doubtnut.com/l/_BIQ9iOY8pMhY
https://dl.doubtnut.com/l/_IC9WdwcBONgw

12. In each of the following cases, let's multiply and find
their product.

4a, (a +b—c)

o Watch Video Solution

113. In each of the following cases, let's multiply and find
their product.

6a’b%, (2a + b)

o Watch Video Solution

114. In each of the following cases, let's multiply and find
their product.

TYz, (a:2y — yzx + z2y)


https://dl.doubtnut.com/l/_YFv4rbiGJM5z
https://dl.doubtnut.com/l/_EZDTJMsCtH00
https://dl.doubtnut.com/l/_EglCldxUwQWp

o Watch Video Solution

115. Simplify: 7z(2z + 3) — 5z(3z — 4)

o Watch Video Solution

116. Simplify: x(x-y)+y(y-z)+z(z-x)

° Watch Video Solution

117. Simplify: 2z — 62(5 — 8z — 3y)

o Watch Video Solution



https://dl.doubtnut.com/l/_EglCldxUwQWp
https://dl.doubtnut.com/l/_lZejjeMWjGxS
https://dl.doubtnut.com/l/_58XvYeIFlbtI
https://dl.doubtnut.com/l/_9i3CG8yABfrH

118. Simplify: 7a-2 (5a+6b-7)

o Watch Video Solution

119. Let's Multiply :

(10-3x) (7 + x)

° Watch Video Solution

120. Let's Multiply :

(11 + 2x) (8 - 2xy)

o Watch Video Solution



https://dl.doubtnut.com/l/_716cGoFHFMpz
https://dl.doubtnut.com/l/_w2WVOe4agz0N
https://dl.doubtnut.com/l/_9zBVRCQolGYN

121. Let's Multiply :

(a + by) (4a - 6y)

o Watch Video Solution

122. Let's Multiply :

5-5)(5)-%

o Watch Video Solution

123. Let's Multiply :

(F-7)E-3)

° Watch Video Solution



https://dl.doubtnut.com/l/_HiKf3GN5RUkr
https://dl.doubtnut.com/l/_T8mnQp9OfHxb
https://dl.doubtnut.com/l/_89tg3Q3uCBxY
https://dl.doubtnut.com/l/_j9gUG1D2Ii1O

124. Let's find values of the following mentally:-

3a x 4b = ?

o Watch Video Solution

125. Let's find values of the following mentally:-

12ab = 3a = ?

° Watch Video Solution

126. Let's find values of the following mentally:-

12ab =~ ? = 4ab

o Watch Video Solution



https://dl.doubtnut.com/l/_j9gUG1D2Ii1O
https://dl.doubtnut.com/l/_Yi0giN8ZUSHK
https://dl.doubtnut.com/l/_QZkH0gynEatx
https://dl.doubtnut.com/l/_sr5EfirAbmUB

127. Let's find values of the following mentally:-

(—w2)><a::?

o Watch Video Solution

128. Let's find values of the following mentally:-

9z* + 3z° = 7

° Watch Video Solution

129. Let's find values of the following mentally:-

22 x 22 =7

° Watch Video Solution



https://dl.doubtnut.com/l/_sr5EfirAbmUB
https://dl.doubtnut.com/l/_ZKGUOm5LIBwi
https://dl.doubtnut.com/l/_yzGXzfyga995

130. Let's find values of the following mentally:-

2?7 =1

o Watch Video Solution

131. Let's find values of the following mentally:-

0=ab=

o Watch Video Solution

132. Let's find values of the following mentally:-

402’2 x 7 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_McA60skGZM2L
https://dl.doubtnut.com/l/_uzKrjTPkLTAJ
https://dl.doubtnut.com/l/_8mTVIXPAh4og
https://dl.doubtnut.com/l/_KrCZcWJjrKwb

133. Let's multiply :-

2z x ( — 3y) x 62

o Watch Video Solution

134. Let's multiply :-

7.:cy2 X 8:c2y X Ty

o Watch Video Solution

135. Let's multiply :-

(—3a%) x (4a®b) x ( —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_KrCZcWJjrKwb
https://dl.doubtnut.com/l/_dDA0uTZaIu1l
https://dl.doubtnut.com/l/_hqBKAVnmA3BV

136. Let's multiply :-

1
(— 2mn) x E’m2n2 x 13m*n?

o Watch Video Solution

137. Let's multiply :-

2 3
Exzy X gxy2

o Watch Video Solution

138. Let's multiply :-

18 25
(- %)< (-5 =)

o Watch Video Solution



https://dl.doubtnut.com/l/_jISmuSAlDl72
https://dl.doubtnut.com/l/_YqZ5tMu5jPWN
https://dl.doubtnut.com/l/_3u0Wz0tJkKa3
https://dl.doubtnut.com/l/_onCv0T5edlPN

139. Let's multiply :-

32 15 9 T
(—gs t) X (7315 u) X (gsu>

° Watch Video Solution

140. Let's multiply :-

4 1
(§w2zy) X (§y2zw) X ((— 6zyz)

° Watch Video Solution

141. Let's multiply :-

4a (3a + 7b)

o Watch Video Solution



https://dl.doubtnut.com/l/_onCv0T5edlPN
https://dl.doubtnut.com/l/_1lxWAhpkjkcw
https://dl.doubtnut.com/l/_y0VAUh7rbTuB
https://dl.doubtnut.com/l/_ODhN3O7ianlX

142. Let's multiply :-

8a*(2a + 5b)

o Watch Video Solution

143. Let's multiply :-

—172%(3x — 4)

o Watch Video Solution

2
144. Multiply: gabc(a2 + 5% — 3c%)

o Watch Video Solution

145. Multiply: 2 x 5z (10z*y — 100zy*)


https://dl.doubtnut.com/l/_ODhN3O7ianlX
https://dl.doubtnut.com/l/_hdu1Qccz4Adn
https://dl.doubtnut.com/l/_53SzvqjU3MtF
https://dl.doubtnut.com/l/_L5oyBcPaTlYv

o Watch Video Solution

146. Multiply: (2x+3y) (5x-y)

o Watch Video Solution

147. Multiply: (a® — b°) (2b — 6a)

° Watch Video Solution

148. Let's multiply :-

(z + 2)(3xz + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_L5oyBcPaTlYv
https://dl.doubtnut.com/l/_zgbBCeszz8DL
https://dl.doubtnut.com/l/_qVSGDt9Qrdia
https://dl.doubtnut.com/l/_uv5k5JvSB6Ab
https://dl.doubtnut.com/l/_QMdyzUuUCtx2

149. Seema Planted 3x saplings in a row. In 2x such row let's

find how many saplings seema can plant.

o Watch Video Solution

150. The length of a rectangle is (4x + 1)m and breadth is 3x

m. Let's calculate the area of the rectangle.

o Watch Video Solution

151. Presently, the price of a dozen of bananas has increased
by 6 rupees. If the previous price of a dozen of bananas was x

rupees, find the cost of 2x dozen of bananas.

o Watch Video Solution



https://dl.doubtnut.com/l/_QMdyzUuUCtx2
https://dl.doubtnut.com/l/_vd4oPHUUAaZL
https://dl.doubtnut.com/l/_J7pielmH7RTh

152. Let's find the area of a square whole each side is 7x cm.

° Watch Video Solution

153. The area of a rectangle is 8z%sq. units. . If the length ios

4x units. Let's find its breadth.

o Watch Video Solution

154. Sushobhan sold 729y* number of kites in 9y days. Find

the number of kites sold in average per day.

o Watch Video Solution



https://dl.doubtnut.com/l/_VXMTTMT1lHZ8
https://dl.doubtnut.com/l/_cgTjBvYKySy6
https://dl.doubtnut.com/l/_T4MTT6bdPpu0

155. Let's divide the first algebraic expression with the
second algebraic expression in the folloiwng pairs of

algebraic number.

8x3b, 22b

o Watch Video Solution

156. Let's divide the first algebraic expression write the
second algebraic expression in the folloiwng paris of
algebraic number.

—9zy%, zy

o Watch Video Solution



https://dl.doubtnut.com/l/_OWU77k7iwOaN
https://dl.doubtnut.com/l/_tJfv5vTai2o2

157. Let's divide the first algebraic expression with the second
algebraic expression in the folloiwng pairs of algebraic
number.

— 15:132y4z2, — z%yz?

o Watch Video Solution

158. Let's divide the first algebraic expression write the
second algebraic expression in the folloiwng paris of
algebraic number.

213m3n3, — 4l*mn

o Watch Video Solution



https://dl.doubtnut.com/l/_YgCa21fSwVrB
https://dl.doubtnut.com/l/_PbpIet36CxPA

159. Let's divide the first algebraic expression with the
second algebraic expression in the folloiwng pairs of

algebraic number.

(5a2 — 7ab2), a

o Watch Video Solution

160. Let's divide the first algebraic expression write the
second algebraic expression in the following pairs of

algebraic number.

(— 482" + 122°), 3z°

o Watch Video Solution



https://dl.doubtnut.com/l/_Tuj3xIaGwSZI
https://dl.doubtnut.com/l/_oD5h79nzAnMU

161. Divide the first algebraic expression by the second
algebraic expression in the pairs of algebraic numbers:

15m’n + 20m2n2, 5mn,

o Watch Video Solution

162. Let's divide the first algebraic expression write the
second algebraic expression in the folloiwng paris of

algebraic number.

(36&51)2 — 24a2b5), ( — 4a2bz)

o Watch Video Solution

163. Let's divide the first algebraic expression write the

second algebraic expression in the folloiwng paris of


https://dl.doubtnut.com/l/_igDtnUkNverg
https://dl.doubtnut.com/l/_gUiqrLzECOe0
https://dl.doubtnut.com/l/_yaW1YUf2Xj3D

algebraic number.

3pqr + ()’pzqr2 — p3q2r3, — 3qpr.

° Watch Video Solution

164. Simplify the a(b-c)+b(c-a)+c(a-b)

o Watch Video Solution

165. Simplify the a(b-c)-b(c-a)-c(a-b)

o Watch Video Solution

166. Simplify the following:

z(x +4) + 2z(z — 3) — 3z



https://dl.doubtnut.com/l/_yaW1YUf2Xj3D
https://dl.doubtnut.com/l/_X2k0Rs1hPnaO
https://dl.doubtnut.com/l/_e4maczGRhCy1
https://dl.doubtnut.com/l/_Pko3FVzFPL6E

I ° Watch Video Solution

167. Simplify the following:

322 + z(z +2) — 3x(2z + 1)

o Watch Video Solution

168. Simplify the (a+b)(a-b)+(b+c)(b-c)+(c+a)(c-a)

o Watch Video Solution

169. Simplify the

(a,2 + b2) (a2 — b2) + (b2 + c2) (b2 — c2) + (c2 + a2) (c2 — a,2)

° Watch Video Solution



https://dl.doubtnut.com/l/_Pko3FVzFPL6E
https://dl.doubtnut.com/l/_ZXjzNSE2u37C
https://dl.doubtnut.com/l/_VFgR3Vs90TSk
https://dl.doubtnut.com/l/_GLdWSrA1it2h



https://dl.doubtnut.com/l/_GLdWSrA1it2h

